I would like to create a simple expert advisor based on standard zigzag indicator and my own trend indicator.

The EA should have the following inputs : ( I will explain in detail all inputs )
1. Zigzag settings ( Depth, Deviation, Backstep )
2. Timeframes from my trend indi (TF1, TF2, TF3 )
3. Trade during time of day ( start hour, start minute, end hour, end minute )
4. Max spread
5. Use fixed lot size ( true / false )
6. Fixed lot size : … x
7. Use risk % ( true / false )
8. Risk percent : …x
9. Number of entries from trend start
10. Trade again if previous was a loss
11. Max open orders simultaneously on current symbol;
12. Number of assets traded simultaneously
13. Stop at daily loss
14. Use breakeven ( true / false )
15. Breakeven at RR ( risk reward ratio. For ex, if it is set to 0.5, the ea will move the stop to breakeven once 0.5 reward has been reached )
16. Use RR trailing stop ( true / false )
17. Trail at RR ( same as with breakeven, but trailing stop and breakeven must work independently. In other words, I must be able to set breakeven at 0.5 R and trail at 1 R )
18. Use zigzag trailing stop (true/false )

Inputs from 1 to 9 are obvious, no need for explanation.
Input 9 : if this valut is set to 1, the ea wil trade only the first setup from the moment a trend starts. If it is set to 3 for example, the ea will trade 3 setups from the formation of the trend, but this is where 
Input 11  comes in place.  So let’s say we have input 9 at 3, and Input 11 at 1. This means that the EA will trade 3 setups from the  beginning of the trend ( if there will be 3 setups, of course), but it will not open a new trade until the previous order is not closed.  If Input 9 is set to 3 and input 10 is set to 2, the ea will open the first trade, and it will also open a second one if conditions are met, but will not open the third trade until one of the previous orders are not closed. VERY IMPORTANT : if this input is set to value higher than 1, a new order will be opened only if all previous orders are in floating profit.
Input 10 :  if input 0 is set to 1 ( only one setup per trend ), but that setup was a loss, and this value is set to true, it will open a new trade is a setup is found

Input 12 This setting will check the number of instruments that have open positions. Since I want to run the ea on multiple assets, I want to control the risk. So if this input is set to 2, it will only open a trade if there is not more than 1 other instrument that has open trades.

Input 13  will check the total loss ( including closed and floating loss ) on ALL INSTRUMENTS for the current trading day, in the currency of the account. If the total loss has been reached and there are open positions on floating loss, these positions will be closed. No more trades will be opened by the EA on the current trading day.

Input 14 and 15 : if we use breakeven, the ea will move the sl to entry once a definite number of reward has been reached.

Input 16 and 17: if we use a trailing stop, we use it based on risk reward. So if Input 16 is set to 1, and the sl is at breakeven, the ea will move sl to 1 risk once 2 rewards have been reached, will move sl to 2 r once 3 rewards have been reached and so on. If Input 16 is set to 2, the ea will move sl to 1 r once 3 r have been reached, will move to 2 once 4 rew have been reached and so on.

Input 18 : for long setups, the ea will move the sl to the previous zigzag low. Viceversa for short setups.  Important to note : for example in a buy trade, the ea will move the sl to the latest zigzag low only if a new zigzag high has started forming. This way we avoid the expanding zigzag. And viceversa for short setups.


AND NOW THE STRATEGY
The strategy is much simple than you think.
Example for buy setup:
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1. A zigzag high has formed, followed by 
2. 2 : a zigzag low
3. The trend indicator shows a blue line, meaning bullish trend.
4. We enter a buy positions once price crossed the level of the previous zigzag high ( 1 ). We don’t wait for the candle to close, we enter immediately.
5. Stop loss is placed at the most recent zigzag low ( 2 ).
 
If we use breakeven function and we set it to 0.5 R, SL will be moved to entry at around the middle of the bullish candlestick that crossed the level at point 1.
If we use trailing by zigzag, SL will be moved to the zigzag lows marked by thin blue lines, once a zigzag high has formed. In other words, we always move the SL to the most recent swing high.







SHORT ENTRY EXAMPLE :
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